2. Suppose we have a computer program which generates words
from the alphabet A,B,C,D according to the following procedure:
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Biletter table

Pick the first letter according to the single frequency table given _ﬁmwﬁ_mﬂ

below then constructs each additional letter using the table of Al 10

conditional biletter frequencies given below. Bla
a) Calculate the probability that the program produces the word "DACB" . c | 12 o B
b) Determine the 2 letter word that has the highest probability. i DJo |
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The index of coincidence is defined as

number of pairs of equal letters in ciphertext
the total number of pairs of letters
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That is if we set
~ = the number of occurrences of the letter « in the
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cyphertext
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D, represents the number of pairs of equal letters in the
cyphertext.
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@ where NN = the number of letters in the cyphertext



